Cancellation of locations in the Advertisement published in the website www.petrolpumpdealerchayan.in for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" by IOCL on 25.11.2018

An Advertisement was published by (Indian Oil Corporation Limited) on 25.11.2018 in the website <u>www.petrolpumpdealerchayan.in</u> seeking applications for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" at various locations in the State/UT of Uttar Pradesh with Sl. no 1 to 3865.

The Locations with Sl no 3768, 1910, 153, 3739, 3748 as mentioned below, stand cancelled:-

Sl. No	Name of location	Revenue District	Type of RO	Estimat ed monthl y Sales Potenti al #	Categor y	Typ e of Site *	Minimum Dimension (in M.)/Area of the site (in Sq. M.). *		Finance to be arranged by the applicant		Mode of Selectio n	Fixed Fee / Minimu m Bid amount	Securit y Deposit	
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+H SD in Kls	SC SC CC-1 SC CC-2 SC PH ST ST CC-1 ST CC-2 ST PH OBC OBC CC-1 OBC CC-2 OBC PH OPEN	CC / DC / CFS	Fronta ge	Dept	Area	Estimated working capital requireme nt for operation of RO	Estimated fund required for development of infrastructur e at RO	Draw of Lots / Bidding		

					OPEN CC-1 OPEN									
					CC-2									
					OPEN PH									
153										0		Draw of Lots		
	CHAPPRAWAT ON BULANDSHAHR GULAOTHI ROAD	Bulandshahr	Regular	150	SC	CFS	35	45	1575		0		0	3
1910												Draw of Lots		
	Between Kmstone 17 19 on Karnal Shamli Road LHS	Shamli	Regular	160	Open	DC	35	45	1575	25	75		15	5
3768												Draw of Lots		
	Makraida on Pipeline Road, Tehsil Ghaziabad	Ghaziabad	Rural	48	Open	DC	35	35	1225	12	30		5	4
3739												Draw of Lots		
	KARORA ON KARORA PAHASU ROAD, Tehsil KHURJA	Bulandshahr	Rural	48	Open	DC	35	35	1225	12	30		5	4
3748	Within 2 Km from Siyana on Siyana Bughrasi Road, Tehsil ANOOPSHAHR	Bulandshahr	Rural	48	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dimension (in M.)/Area of the site (in Sq. M.). *			Finance to t by the appli	be arranged cant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8			9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC-1 SC CC-2 SC PH ST ST CC-1 ST CC-2 ST PH OBC OBC CC-1 OBC CC-2 OBC PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		

			OPEN					
			OPEN CC-1 OPEN CC-2 OPEN PH					